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Note : This paper is of thirty (30) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= rhl ¼30½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gaSA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of seven and half (7 ) marks each. 

Learners are required to answer two (02) questions 

only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s lkr ¼7 ½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Draw a picture of human eye and explain the function 

of each part of human eye.  

ekuo us= dk fp= cukb, ,oa mlds izR;sd Hkkx ds dk;Z dks 

le>kb;sA 

2. Define Visual Impairment. What are the causes and 

characteristics of visual impairment ? 

n`f”Vckf/krk dks ifjHkkf”kr dhft,A n`f”Vckf/krk ds dkj.k ,oa 

fo’ks”krk,¡ D;k&D;k gSa \ 

3. Write the different teaching strategies for teaching 

children with deaf-blindness. 

cf/kjka/k ckydksa ds f’k{k.k gsrq fofHkUu f’k{k.k j.kuhfr;ksa dks 

fyf[k,A 

4. Enlist the different types of Modern and Traditional 

devices for the children with visual impairment. Write 

in detail about four devices which are useful for their 

education and rehabilitation. 

n`f”Vckf/kr ckydksa ds fy, fofHkUu izdkj ds vk/kqfud ,oa 

ijEijkxr midj.kksa dks lwphc) dhft,A ,sls pkj midj.kksa 

ds ckjs esa foLrkj ls fyf[k, tks mudh f’k{kk ,oa iquokZl ds 

fy, mi;ksxh gSaA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of two and half (2 ) marks each. Learners 

are required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ ¼2 ½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Write five primary effects of blindness. 

n`f”Vckf/krk ds ik¡p izkFkfed izHkkoksa dks fyf[k,A 

2. Define Hearing Impairment and write its different 

classification. 

Jo.k fodykaxrk dks ifjHkkf”kr dhft, ,oa mldh fofHkUu 

Jsf.k;ksa dks fyf[k,A 

3. Differentiate between congenital and acquired hearing 

loss with example. 

tUetkr ,oa tUe ds mijkar Jo.k {kfr esa lksnkgj.k vUrj 

Li”V dhft,A 

4. What are the appropriate methods to teach the children 

with hearing impairment ? 

Jo.k fodykax ckydksa ds f’k{k.k gsrq mi;qDr rjhds D;k&D;k 

gSa \ 

5. Write three basic problems of blindness. 

n`f”Vckf/krk dh rhu eq[; leL;kvksa dks fyf[k,A 

6. What are the characteristics of deaf-blindness  

children ? 

cf/kjka/k ckydksa dh D;k&D;k fo’ks”krk,¡ gksrh gSa \ 
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7. “Data of disabled population is helpful for their 

education and rehabilitation.” Comment. 

ßfodykaxksa dh tula[;k ds vk¡dMs+ mudh f’k{kk ,oa iquokZl 

esa lgk;d gksrs gaSAÞ fVIi.kh dhft,A 

8. Differentiate among special schools and inclusive 

schools. 

fof’k”V fo|ky;ksa ,oa lekos’kh fo|ky;ksa esa vUrj Li”V 

dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half ( ) mark each. All the questions of 

this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  vk/kk ¼ ½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. ................... combinations are formed through 6 braille 

dots. 

(a) 6 

(b) 36 

(c) 56 

(d) 63 

czsy dh 6 fcUnqvksa }kjk 
-------------------------------------

 lewgksa dk fuekZ.k 

fd;k tk ldrk gSA 

¼v½ 6 



 [ 5 ] B–7 

A-101 P. T. O. 

¼c½ 36 

¼l½ 56 

¼n½ 63 

2. The National Institute for the Hearing Impairment is 

situated at : 

(a) Kolkata 

(b) Mumbai 

(c) Chennai 

(d) Delhi 

jk”Vªh; Jo.k fodykaxrk laLFkku 
-------------------------------------

 esa fLFkr gSA 

¼v½ dksydkrk 

¼c½ eqEcbZ 

¼l½ psUubZ 

¼n½ fnYyh 

3. Which category is not included in Multiple Disability ? 

(a) Mental Retardation + Visual Impairment   

(b) Hearing Impairment + Mental Retardation 

(c) Visual Impairment + Hearing Impairment 

(d) Blindness + Low vision 

buesa ls dkSu&lh Js.kh cgqfodykaxrk esa lfEefyr ugha gksrh 

gS \ 

¼v½ ekufld fodykaxrk ,oa n`f”V fodykaxrk 

¼c½ Jo.k fodykaxrk ,oa ekufld fodykaxrk 

¼l½ n`f”Vckf/krk ,oa Jo.k fodykaxrk 

¼n½ n`f”Vghurk ,oa vYi n`f”V 
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4. Special Education Courses are standardized by :  

(a) National Trust 

(b) PWD Act 

(c) RCI 

(d) Ministry of Social Justice and Empowerment 

fo’ks”k f’k{kk ikB~;Øeksa dks ekudhd`r 
--------------------------------

 }kjk fd;k 

tkrk gSA 

¼v½ jk”Vªh; U;kl 

¼c½ ih- MCY;w- Mh- vf/kfu;e 

¼l½ vkj- lh- vkbZ- 

¼n½ lkekftd U;k; ,oa vf/kdkfjrk ea=ky; 

5. Taylor Frame is a : 

(a) Calculative Device 

(b) Assessment Device 

(c) TLM 

(d) None of the above 

Vsyj Ýse 
-------------------------------------

 gSA 

¼v½ xf.krh; midj.k 

¼c½ ewY;kadu midj.k 

¼l½ Vh- ,y- ,e- 

¼n½ mi;qZDr esa ls dksbZ ugha 

6. Career Education is part of .................. 

(a) Curriculum 

(b) Plus Curriculum 

(c) Expanded Core Curriculum 

(d) None of the above 
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thou o`fŸk f’k{kk 
-------------------------------------

 dk ,d Hkkx gSA 

¼v½ ikB~;Øe 

¼c½ tek ikB~;Øe 

¼l½ foLr`fr lkekU; ikB~;Øe 

¼n½ mi;qZDr es ls dksbZ ugha 

7. World Disability Day is celebrated on : 

(a) 3rd December 

(b) 4th January 

(c) 15th October 

(d) 16th June 

fo’o fodykax fnol euk;k tkrk gS % 

¼v½ 3 fnlEcj dks 

¼c½ 4 tuojh dks 

¼l½ 15 vDVwcj dks 

¼n½ 16 twu dks 

8. There are ............... parts of the Ear. 

(a) 5 

(b) 4 

(c) 3 

(d) 2 

d.kZ ds 
-------------------------------------

 Hkkx gksrs gSaA 

¼v½ 5 

¼c½ 4 

¼l½ 3 

¼n½ 2 
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9. According to census 2011 near about ............... 

visually impaired persons residing in India. 

(a) 50 lakh 

(b) 80 lakh 

(c) 1 crore 

(d) 1.5 crore 

tux.kuk 2011 ds vuqlkj yxHkx 
-------------------------------------

 n`f”Vckf/kr 

O;fDr Hkkjr esa okl djrs gSaA 

¼v½ 50 yk[k 

¼c½ 80 yk[k 

¼l½ 1 djksM+ 

¼n½ 1.5 djksM+ 

10. Multiple Disabilities are included in the ............... 

(a) PWD 

(b) RCI 

(c) National Trust 

(d) WHO 

cgqfodykaxrkvksa dks lfEefyr 
----------------------------

 esa fd;k x;k gSA 

¼v½ ih- MCY;w- Mh- 

¼c½ vkj- lh- vkbZ - 

¼l½ jk”Vªh; U;kl 

¼n½ MCY;w- ,p- vks- 
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